MAJOR COMPONENT - Gender & Equity SUB-COMPONENT - Special Projects for Equity ACTIVITY MASTER - Intervention for SC/ST & Minority ACTIVITY - Cyber Safety (workshop on social media)

1.Progress Report in r/o Cyber Safety (workshop on social media) in AWP& B 2019-20

Samagra Shiksha Delhi collaborated with IAMAI (Internet and Mobile Association of India) to conduct the workshops on Responsible Use of Social Media among secondary level students.

Outreach: Total 467 DOE Schools of all 13 districts have organized the workshop 'Responsible Use of Social Media at Secondary Level'.

- > Total no of Schools participated:467
- > Total no of Student participated:33000
- ➤ Total no of HoS & Teachers participated:2298+132=2430

(Fin. In lac)

Approved as per PAB 2019-20		Achieved in 2019-20		
Phy.	Fin.	Phy.	Fin	
136	13.6	136	13.35323	

Simple Tips for Responsible Use of Social Media were given by the Resource Persons to the participants:

- ➤ Never/don't share the information that is not supposed to be shared.
- Always use caution while clicking on links.
- Don't accept friend request of everybody.
- Check your privacy settings.
- Installing Additional Applications
- > Limit the number of platforms you use.
- > Turn off notifications.
- > Be aware of how much time you spend (and limit it).
- Note the quality of your online interactions.
- Seek out plenty of offline interactions.

2.Proposal for Cyber Safety (workshop on social media) in AWP& B 2020-21

Online safety remains a topic of vital public concern and Cyber Safety commitment to ensuring children can use technology in a safe, positive and successful manner meets an important public need against the backdrop of persistent challenges which children, parents and teachers encounter.

Objective:

Cyber believes that education is a key part of the solution and with support from its partners wants to be at the forefront of giving children, parents and schools a head-start in keeping the next generation safe online.

The objective of Cyber is to make a difference in keeping children safe online.

Proposed activity:

On the basis of positive response from all stake holders last year, the workshop is proposed at school level for the session 2020-2021.

Strategy:

In the session the work shop will be organised at school level.

The work shop will be organised in the schools for the students of age group of 14-18 years.

The work shop will be organised with the collaboration of cyber cell and the expert working in this field.

Justification/ rationale:

Threat through the unknown and anonymous cyber world is a harsh reality now-a-days. Ease of access and unmonitored reach has exposed the children to unscrupulous elements on the net.

Financial Implications:

(Fin. In Lac)

Activities	Phy. Target (Schools)	Unit Cost	Fin.
Workshop on "Responsible use of Social Media". at school level SECONDARY LEVEL DOE-88+917, DCB-6, NDMC-29	1040 Schools	0.1	104

(Fin. In Lac)

SI.	District	Phy.	Unit cost	Fin.
1	East	114	0.1	11.4
2	North East	125	0.1	12.5
3	North	62	0.1	6.2
4	North West A	106	0.1	10.6
5	North West B	122	0.1	12.2
6	West A	58	0.1	5.8
7	West B	82	0.1	8.2
8	South West A	46	0.1	4.6
9	South West B	93	0.1	9.3
10	South	72	0.1	7.2
11	South East	91	0.1	9.1
12	New Delhi	33	0.1	3.3
13	Central	36	0.1	3.6
	TOTAL	1040		104

Source: U-DISE +2018-19

Expected outcomes:

The workshop on "Responsible use of Social Media" will create awareness about the various kinds of threats on the internet and also ways to secure oneself from these threats. The children will also be sensitized about responsible use of social media.

3.Recommendation of Technical Support Group (TSG)

Online safety remains a topic of vital public concern and Cyber Safety commitment to ensuring children can use technology in a safe, positive and successful manner meets an important public need against the backdrop of persistent challenges which children, parents and teachers encounter.

Objective:

Cyber believes that education is a key part of the solution and with support from its partners wants to be at the forefront of giving children, parents and schools a head-start in keeping the next generation safe online.

The objective of Cyber is to make a difference in keeping children safe online.

Proposed activity:

On the basis of positive response from all stake holders last year, the workshop is proposed at school level for the session 2020-2021.

Strategy:

In the session the work shop will be organised at school level.

The work shop will be organised in the schools for the students of age group of 14-18 years.

The work shop will be organised with the collaboration of cyber cell and the expert working in this field

Justification/ rationale:-

Threat through the unknown and anonymous cyber world is a harsh reality now-a-days. Ease of access and unmonitored reach has exposed the children to unscrupulous elements on the net.

Financial Implications:-

Activities	Phy. Target	Unit Cost	Fin.
	(Schools)	(in lac)	(in lac)
Workshop on "Responsible use of Social			
Media". at school level SECONDARY LEVEL	1040 Schools	0.1	104
DOE-88+917, DCB-6, NDMC-29			

SI.	District	Phy.	Unit cost (In lacs)	Fin. Out lay (In lacs)
1	East	114	0.1	11.4
2	North East	125	0.1	12.5
3	North	62	0.1	6.2
4	North West A	106	0.1	10.6
5	North West B	122	0.1	12.2
6	West A	58	0.1	5.8
7	West B	82	0.1	8.2
8	South West A	46	0.1	4.6
9	South West B	93	0.1	9.3
10	South	72	0.1	7.2
11	South East	91	0.1	9.1
12	New Delhi	33	0.1	3.3
13	Central	36	0.1	3.6
TOTAL	1	1040		104

Expected outcomes:-

The workshop on "Responsible use of Social Media" will create awareness about the various kinds of threats on the internet and also ways to secure oneself from these threats. The children will also be sensitized about responsible use of social media.

Recommendation: Project can be considered for 1040 proposed schools for sensitization of students about responsible use of social media @0.03 lakhs per school with an estimated outlay of Rs. 31.20 Lakh . State also advice not to promote any large gathering or mela for any project due to Covid -19 situation and try to implement the activities within the school campus only.

4.Costing Sheet of Plan Approval Board

Sub Component	Activity Master	Level	Physical	Unit Cost	Financial (In Iac)
	Workshop on Social Media (Responsible use of Social Media)		1040	0.1	104.00